8 7 6 5 ' 4 3 2 NEXT ASS“Y: 1 FINAL ASS Y: ‘
| NOTES ‘
| DRAWING PREPARED IN ACCORDANCE WITH ASME Y14 .100-2004.
|F1 ) : . 2 INTERPRET DIMENSIONS AND TOLERANCES PER ASME Y14 5M-1994. H
3. DIMENSIONS ARE IN INCHES
| . - 4] INSTALL UPPER AND LOWER SUPPORT ASSEMBLIES. F/N 14 AND 15 ‘
c T AND TEMPORARY SUPPORTS, F/N 18 AS SHOWN. ADD ANY ADDITIONAL
e < SUPPORT STRUCTURES AS REQ‘D TO TRANSPORT FIELD PERIOD
- S ASSEMBLY FROM STATION 3 TO STATION 5.
= 5] MACHINE BUSHING OD AFTER MATCHING AL IGNMENT WITH CORRESPONDING
N’
HOLE ON MATING FLANGE. USE STUD KIT SEI140-190-2. F/N 17, IN ANY
HOLE WHERE FLANGE THICKNESS IS THINNER THAN 1.25. SEE DRAWING
‘ 20 | 21 ) SEE VIEW E SHEET 3 SE140-190 FOR ADDITIONAL INFORMATION ON STUD KITS. ‘
6] SHIMS TO BE CUSTOM FIT PRIOR TO INSTALLATION. SEE DRAWING
S/ — °¢g SEI140-045 FOR WELDING AND OTHER INFORMATION.
‘(3 W 7. ASSEMBLE PER THIS DRAWING AND SPECIFICATION CB‘
NCSX-CSPEC-185-03-00.
Q 8] THIS DIMENSION TO BE MAINTAINED FOR ALL 3 MOD COIL HALF PERIOD
/ ) ASSEMBLIES WITHIN 4 .06. FINAL ADJUSTMENTS TO BE MADE AT STATION 6.
9| ASSEMBLE AS SHOWN. HAND TIGHTEN - DO NOT TORQUE.
L___ 10| ADJUST LENGTH AS REQUIRED TO POSITION AND SUPPORT VACUUM VESSEL. ___J
o \\\\ ‘
| PN O
| n
: \
>
F © o \‘“I:: F
| oo \¥; \
D
\
| “ \
Q
| \ : \
\ : O \
Q)
] O E \
B
‘ mp> <= ‘
\ 7 \
/ POLYMERIC DI 1SOCYANATE ggéﬁggNSUEitYO%gRg
D 2@ AR | AR | AR -2 DOW GREAT INSULATING FOAM POLYOLS AND S0 503 1000 “ D
‘ D HYDROCARBON GAS WIWW . BRADCOSUPPLY . COM ‘
Q@
24| 24| 24 94805A115 3/8- 16 JAM NUT MCMASTER CARR 23
ATLANTA GA 30336
- — N 404-346-7000
{ - 616 |6 901044010 3/8- 16 COUPLING NUT W MCMASTER COM 27
% S EERRE Y 3/8- 16 X 4 LG WELD STUD 2 |
' 61 6|6 -20 3/8- 16 X I-1/4 LG WELD STUD 3161 SST ASTM A276 20
0 O |b AR | AR | AR -1 9 @ .25 ROUND 9
® ] 4 > 22 18 VACUUM VESSEL TEMP SUPPORT, SUPPLIED BY PPPL 8
= 5 AR | AR | AR SE140-190-2 MCWF FLANGE TAPPED STUD KIT 7
‘ / Q 5 20120 ] 20 SE140-190-4 MCWF FLANGE TAPPED STUD KIT 6 ‘
Q 4 > 2|2 SE124-054 VERTICAL LOWER SUPPORT ASSEMBLY 5
4 > 22 SEI24-05 VERTICAL UPPER SUPPORT ASSEMBLY 4
|C: 6 HEEE SE140-045 A-A MOD COIL SHIM AND SHEAR PLATE KIT 13 C:‘
| SE140-003-6 MCHP - RIGHT SIDE PERIOD 3 -A6/B6/C6 1?2
i ] | SEI40-003-5 MCHP - LEFT SIDE PERIOD 3 -A5/B5/C5 |
| N = — | SE140-003-4 MCHP - RIGHT SIDE PERIOD 2 -A4/B4/C4 0 ‘
S| EE?E : | SE140-003-3 MCHP - LEFT SIDE PERIOD 2 -A3/B3/C3 9
ML Y 53 ) SEE VIEN £ SHEET 3 | SE140-003-2 MCHP - RIGHT SIDE PERIOD | -A2/B2/C? 8
I SEISESES = | SE140-003- | MCHP - LEFT SIDE PERIOD | -Al/BI/C| 7
L___ \ Rlimlilw | SE121-009-3 VACUUM VESSEL ASSY STATION | PHASE 3 - VVSA 3 6 ___J
IR 55§:::;: : | SE121-009-2 VACUUM VESSEL ASSY STATION | PHASE 3 - VVSA 2 5
SMFRERAR | SE121-009- | VACUUM VESSEL ASSY STATION | PHASE 3 - VVSA | 4
| {1 {1 3 AR -3 FIELD PERIOD ASSEMBLY, STATION 3, -3 3 j;;‘
) IINREHRHAR AR N FIELD PERIOD ASSEMBLY, STATION 3, -2 o
_ _ |
é_ NOTE (Aj% T FIELD PERIOD ASSEﬁB;Y, STATION 3, - F 1l
|E3 il SOME DETAIL ON ALL VIEWS OMITTED FOR CLARITY S gggE IDEN{NFYka 0 Ogoggggk?P¥lgN MATERIAL SPECIFICATION &gD <:>‘
= A & ' Lot
| = = = 3
RELEASED FOR
‘ FABRICATION / INSTALLATIO ‘
— 1, -2, -3 FIELD PERIOD ASSY - STATION 3 PrrL Dot Jerome siegel S5 —
‘ SCALE 0.160
DES PL GORANSON [ 8r08 Oak Ridge Nati | Laborat ‘
ISOMETRIC VIEW SCALE NoTep (2ts PL _GORANSON | o ok Ridge Notional Laboralory
TOLERANCES UT-BATTELLE u.s. GOVERNMENT contract DE-AC05-000R22725
UNLESS OTHERWISE Cik M COLE 8/08 ¢ > UT-BATTELLE, LLC.  Oak Ridge, Tennessee
. SPECIFIED SECT - . PROJECT NAME
\ WEIGHT: 43,250 LBS S oo NATIONAL COMPACT STELLARATOR EXPERIMENT \
NO REPRESENTATION OR WARRANTY,EXPRESSED OR IMPLIED.IS XX DECIMALS +.01|PE
A | e a5 o i accumcr, comiereatss or usiruuniss or 1o O DECINALS =005 [ B FIELD PERIOD ASSEMBLY A
1 L, R o RO SR IS et [T STATION 3
INFRINGE PRIVATE RIGHTS OF OTHERS. NO LIABILITY IS ASSUMED P TH SNDSM EﬁGPESEE{CED BREAK SHARP EDGES .06 MAX [ REQ :
T ST T o O O G S L e ox - FINISH 125 unLess ppPL DRFT J STEGEL | 808 VERSION NO. PLANT BLDG FL [SHT OF [TYPE [CLASS
DISCLOSED [N THESE DRAWINGS. DRAWINGS MADE AVAILABLE FOR 0 |ORIGINAL RELEASE GM 08708 OTHERNISE SPECITIED : : 19 ORNL 2700 3 I 3| AU
IFGRWATIOW T0 BIBOCR ARE WOT 10 6E USED FOR OTNER TV DESCRIPTION BY |DATE| CHK |DEPT|DATE| PE | REQ | DATE |ORNL| DOE | DATE : RELEASE LEVEL SE100-003 RV
| FORWARDING CONTRACTOR. REVISION OR ISSUE PURPOSE REVISION APPROVAL DRAWING APPROVALS DATE Fabrication 0 ‘
8 7 6 5 [ 4 3 2 1



jsiegel
RELEASE FOR FABRICATION


8 7 & 0 B 432

Ol

HWMMWT?EI =I=HST

A |

\
i
\
\
\
\
s £ EE
i \
900 \
C | c EXPLODED VIEW S
A , A SCALE: 0.10
| i %@N\g | \
0 — '. . 0
| ol : g v - D
S D
’ > ‘
@@ ] 1 ©@
@@ = = - LD 0 @ ﬁ
g @ — /| —\
4l Lo o @ cC

® 0 ) ©
. A e 0 S ‘
Q) © I]i o oJ (D
Q ©
e === ) B
\“ . _‘
0 \ 2) ) W Z 0 [
0 o (-K\ 1 ﬂ o 0 ‘
0 | 0
» == 3! - o
by
B
5

Oak Ridge National Laboratory ‘

TP VIEW UT-BATTELLE ¢ Gltnent controct be:acos:ooihzsas

- ) . a | ge, ennessee
SCALE  0.090 NATIONAL COMPACT P?fcﬁﬂAﬂEARATOR EXPERIMENT ‘

-1 -2, -3 FIELD PERIOD ASSY - STATION 3

SCALE 0090 FIELD PERIOD ASSEMBLY A
STATION 3 ‘

VERSITON NO. PLANT BLDG FL SHT OF | TYPE [CLASS

9 ORNL | 5700 3 12 31 A ng

RELEASE LEVEL Vv
Fabrication SE100-003 0 ‘




8 6 5 ' 4 3 2 NEXT ASS“Y: 1F\NAL ASS Y ‘
NOTE: AFTER FINAL ADJUSTMENTS SHAFT TO
3 WIRE LOCKED TO A WELD STUD TO PREVENT
ASSEMBLY MAY BE INSTALLED FROM BOTTOM
| R e e ROTATION. METHOD FOR THIS STEP VENDOR OPTION. 3 3 3 3 ‘
INSTALLING CLEVIS AND COTTER PIN AFTER
C1T BUSHING TO FLANGE HOLE b INSERTION. ASSEMBLY TO BE TEMPORARILY SUPPORT ROD SHOWN WITHOUT UPPER {_- ._l
H WITH NO PERCEIVABIE P[AY RETAINED PRIOR TO STATION 3 ASSY. F gﬁ*\gﬁ%é%wéigmsw%EMiM/U;}UBREN E 2 2 E H
CONF IRMED BY WIGGLING SHAFT - ;j ia
00 MIN THREAD ENGAGEMENT STUD LOCATION DIMS SHOWN FOR REFERENCE. Nl i%g %
STUD SHOULD NOT BOTTOM OUT ////——;ZZZZZZZZZF MATCH LOCATE WITH PLATE SEI24-065 AND §>/ 3.04  DIM WILL
ON THREADS OR BOTTOM OF HOLF STUD WELD AS SHOWN. RADIAL ORIENTATION X ‘ X VARY FOR EACH
e — 7 \ VENDORS CHOICE. = = ASSY  [8
/ \
5 LY : \ b Jz
%——— "I”‘lll) o) e J ! \ 38 X
REF | | (3)
\ |
\‘ '/
\ ,~ + \
\ RET \ \
| N =0 ~ /F 0
\\"\___T_=_/'/’ ) Ar
‘(3 —= £ i (3‘
‘ — ($3.25) B.C. ‘
— 7 A 1988
7 NOM | NAL
Z;/ ‘h : @ 3% (120.0°) R0D
T - COUAL LY DIMENS | ON
S SPACED
CLEAN UP STUD WELD TO VIEW E-E
Qif////////ﬁBE CLEAR OF PLATE SCALE 100
\ * \
F SLIP FIT BUSHING TO STUD SECTION C-C TYP TAPPED STUD KIT F
WITH NO PERCE IVABLE PLAY
SCALE  1.00
| NG < \
| SECTION F-F \
] 13 )16 Sttt DRAWING SE140-045 rOR SHIM SCALE 2. 00 -
| INSTALLATTON AND WeLDING DETATLS. ‘
1 A :: Inal
‘ 5 H O F ‘
HOLE |
] N 1 ] \
Q HOLE 10 i;:
\ . i \
= O N | -
\ ife \
< 7 = (24.28)
‘ ‘.>> 24 0606 ‘
O A
‘[J O D
(II” 4110] REF
‘ O (26.27) ‘
::iEB NEUTRAL
BEAM
’* PORT ﬂ
OPEN NG
o A \
C ® . c
O O
O O VERTICAL LOWER SUPPORT ASSY A
O SECTION B-B
SCALE 0.50
O > ) REF
‘ O ALL GAPS TO BE FILLED ‘
WITH F/N |8 AFTER FINAL CLEVIS MUST BE ORIENTED AS
o BOLTING AND WELDING SHOWN WITHIN 4=1/2 TURN.
o
‘ 23 ) REF - VERTICAL UPPER SUPPORT ASSY 8 ‘
B HOLE 20 e\ i 38 % SECTION A-A S
e SCALE 0.50 —
‘ HOLE 25 s X & ‘
y 7%
4 77/%8" =" \\\\ STUD SHOWN WITHOUT B
yy | N\ ) WASHERS AND NUTS
|
\ A-A FLANGE SHIMS WA \
SCALE  0.125 = 7)%9/
Q 1 7, STUD LOCATION DIMS SHOWN FOR REFERENCE .
= MATCH LOCATE WITH WASHER SE124-057 AND
‘ ~~— p STUD WELD AS SHOWN. RADIAL ORIENTATION . . ‘
- - VENDORS CHOICE. Ok R rdge N e oF oy atory
VACUUM VESSEL TEMP SUPPORT ) UT-BATTELLE U8 SOVERMMENT contegc " 0E-ACOS. 000822125
‘ SECTION D-D NOTE: AFTER FINAL ADJUSTMENTS SHAFT TO CTEIT ‘
SCALE  0.50 (B3 313) B.C. 6§<ﬁﬁ&L%> B WIRE LOCKED TO A WELD STUD TO PREVENT NATIONAL COMPACT STELLARATOR EXPERIMENT
ROTATION. METHOD FOR THIS STEP VENDOR OPTION.
A L SPACED FIELD PERIOD ASSEMBLY A
‘ STATION 3 ‘
VIEW F'F VERSITON NO. PLANT BLDG FL SHT OF TYPE |CLASS
SCALE 1.00 9 ORNL 5700 3 13 31l AU
RELEASE LEVEL REV
‘ Fabrication SE100-003 0 ‘
8 6 5 ) 4 3 2 1




		2008-10-17T10:44:20-0400
	jerome siegel




